ELCE 2260 HOMEWORK #10 probs 3, 4, and 5 solution U
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a) Given ® = 1Mrad/s, find the value of C that makes z;y =—j1.01 Q. Note that
ZLy 1s the equivalent impedance of the entire circuit.
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b) For the above 3-phase balanced circuit, find the numerical value of the phasor
voltage VpB.
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We Find th by :EJIF'H:Lrna VaA o ~120°,

vqﬂl = Va'n - Zine
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We shift _brq,.q h‘}e -120" te obtaln -L'LE:
Vog = 168 £-150" V

(This tllustrates ~that +he voltage

en +the Lline ey be as L.n.rjt as
the generator voltage.)



